10 9 8 7 \ 6 \ 5 \ 4 \ 3 \ 2 \ 1

@396

B [156]

\
¢ -
¥ © E{ J (e
|

Z

« WIRE READY SPEC. (OPTION -47)
a (FOR OPTIONAL SCREW -50
AND STANDARD SCREW.)
80 TYP

Ty n R
R e R

9.53. 081, TYP. [.062]
[375 [.032] NOTES: NO SCREWS
(OPTION -58 AND -59)
4 CIRCUIT SHOWN
1. MATERIAL: SEE TABLE
M XX |#6-32 WRDY W/WASH SCR (47,500 |STEEL IN, CLEAR CHROMATE | 5 ENISHES. SEE TABLE
0 |XX  |#6-32 PH/SLOT WRDY SCR (OPT -47) |STEEL 7N, CLEAR CHROMATE | 3. INCH DIMENSIONS ARE IN BRACKETS [XXX1.
4. REFER TO SD-38120-001 FOR IMPRINTING OPTIONS 10A AND 11A,
9 XX |#6-32 SLOTTED SCREW (OPT -56) STAINLESS STEEL|PASSIVATE = REFER TO SD_38120-007 FOR MPRINTING OPTION 124,
8 XX |#6-32 SLOTTED SCREW (OPT -45) STEEL ZN, CLEAR CHROMATE | 6. "XX" REFERS TO THE QUANTITY OF CIRCUITS.
7 XX |16-32 PH/SL W/WASH SCR (-£9,50)  [BRASS NICKEL 7. ALL COMPONENTS ARE ROMS COMPLIANT,
HO- T ggg QUALITY| GENERAL TOLERANCES DIMENSION STYLE SCALE ‘ DESIGN UNITS @ (]TH\RD ANGLE
6 XX |#6-32 PH/SL W/WASH SCR (OPT 50) |STEEL 7N, CLEAR CHROMATE S=2| |sympoLs| (UNLESS SPECIFED) MM/IN 241 INCH PROJECTION
oSEEE mm INCH | DRAWN BY DATE TITLE
5 XX |#6-32 PH/SLOTTED SCREW (OPT -49) |BRASS NICKEL E5SS2| W0 [ZrPAcSE— (7 . HOWARD ~ 2003/10/16 9.53MMP[C.37ASS]S§R BTS,
O 5 3 PLACES|+-—- |[+£.005  |CHECKED BY DATE
4 XX |#6-32 PH/SLOTTED SCREW (STD) STEEL 7N, CLEAR CHROMATE ngiigvzo Y= R e T T 2003/10/16
3 2 MOUNTING PLATE BRASS NICKEL FoZzz2Y TPLACE T03 |[f-—-  [pPeRoveD &v DATE
LL=2= ANGULAR £ 2 © CWALTZ 2003/10/16 @X MOLEX INCORPORATED
7 XX TERMINAL BRASS BRT.TIN/CU o % = ; MATERIAL NO. DOCUMENT NO, SFEET NO.
e - -
1|t [NSULATOR, SNGLE ROW PBT BLACK QuETa ORAFT WHERE AT CABLEL_SEE SHT. 2 SD-38720-001 1 OF 2
= WITHIN DIMENSIONS THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
ITEM aTY. DESCRIPTION MATERIAL FINISH B & INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
Re. & 7008/04/75 9 8 | 7 | 6 5 4 | 3 | 2 | 1




10 9 8 7 \ 6 5 \ 4 3 2 1
MATERIAL NO. MATERIAL NO. [MATERIAL NO. MATERIAL NO. [MATERIAL NO. [MATERIAL NO. [MATERIAL NO. [MATERIAL NO. |MATERIAL NO. MATERIAL NO. [MATERIAL NO. ] NUMBER OF
(OPT 12A) | (OPT 1Al (OPT 10A) | (OPT 59 | (OPT -58) | IOPT -561 | (OPT -50)  |1OPT -£9-501 | (OPT -49) [OPT -47,50) | (STD) CRCUTS "X’
36729-0659 (B) (8)38720-6201 01
38729-1039 38729-0750 | 38729-0791_ [ 38720-7402 | 387291381 | 36720-6602 38720-6202 02
38729-0872 | 36729-0025 | 38/29-0014 38720-0117 | 38720-7403 38720-6803 | 38720-8603 | 387206203 03
38729-0920 | 36/29-0945 38729-0839 | 36720-7404 | 367291159 | 38720-680% 38720-620% 0Z
38729-0256 38729-0346 387291253 | 36720-7405 | 36729-1367 | 36720-6805 38720-6205 05
36729-0400 | 38729-0386 | 36729-0980 | 35720-7406 | 38/29-1383 | 38720-6606 38720-6206 06
38729-0423 | 38729-0407 | 38729-0435 | 36729-0440 | 387207407 38720-6807 387206207 07
38729-0497 38779-0508 | 36729-0537 | 36/20-7L08 36720-6508 38720-6208 08
38729-0548 38729-0560 38720-7409 36720-6809 38720-6209 09
387291011 | 38729-0508 | 38/29-0598 387207410 367206810 387206210 0
38729-1252 | 387207411 38720-6211 i
38729-0720 38729-0735 | 387207417 367206812 387206212 7
38729-0609 387207413 38720-6213 3
38729-0004 387207414, 36720-681% 38720-6214 1L
38720-6215 E
38720-6216 6
387206217 7
387206218 8
387206219 9
38720-6220 20
387206271 21
38720-6227 2
38720-6223 23
38720-6724 24
38720-6725 7
38720-6226 26
NUMBER OF DM, DM, OM DM, .
LIRCUITS XX A B ' D’ B
01 307 T2 |- - T 75 i G) N N
0740 8] [959 (375 | 286 (B [ 7211 [83] ﬁ
03 297 96l 1905 7501 | 38. 150] 306 [121] ‘
0Z 507 (2331 12858 [1125] | 476 [188] 201 [158] | |
05 68.7 2771|3810 _[1500] | 572 275 797 1196] i O
06 767 [308] [47.63 [18/5] | 667 (263 597 [2.33] 7.9 ;
07 878 [3.46] [57.15 [2250] | 762 [3.00 687 [2.71] [31]
08 973 3831|6660 [2625] | 857 1338 762 13.08 '
09 068 (421 760 [3000] [ 953 (375 878 1346 [ T T
0 63 [458] (6573 [3.3/5] | 1048  [4.13] 973 1383 L 153 95
T 759 [496] 9575 [3750] | Ma3  [450 065 16.20] (60] 7 [37]
7 352 5.33] 0478 (21251 | 1238 (488 6.3 1458 ' : STH PATTERN
5] 29 571 1430 [4500] | 1334 575 759 1495
1 L4 [608] [12363 [48/5] | 1429 [563 354 5.33] H
15 64.0 6.46 3335 15.250 1524 6.00 1449 1571 =S| |JquaLiTy| GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS THRD ANGLE
16 735 1683 4288 [5625] | 119 1638 544 16.08] css SYMB[‘)LS (UNLESS SPECIFIEED) MM/IN 2:1 INCH ©d PROJECTION
ji 83.0 7.21] 5240 [6.000 1715 6.75 164.0 16.46] o=2sSS8 |— mm INCH | DRAWN &Y DATE TITLE
8 925 [758] [16193 [63/5] [ 1810 [7.03] 735 727 S SRR \W-0 [rraEsE— [ CHOWARD  2003/10/16 9.53MM [.375] SR BTS,
9 20217981 17145 [6750] [ 1905 [7.50 19251758 =5 2 SPIACER G- 1005 [cEckeD v e PC ASSY
20 2116 [633] [18098 [7175] | 2000  [7.38 20211796 5 . _|&lxee = :
A Y 050 XM W O X Eg L33 /-0 ZPLAESIEOT [0 L AL —
2 2306 [908] [20003 [7.8/5] | 291 [8.63 2211871 CES5|8 £0. -
23 2207 [946] 20955 [8250] | 2786 [9.00 7306908 o ANGULAR + 2 ° - WALTZ 2003/10/ 16| MO1E* MOLEX INCORPORATED
2L 2297 1983 [21908 [8.625] | 2381 (938 7306_19.08 LeZie WATERIAL NO. DOCUMENT RO, SFEET NO.
25 7597 (1021 |22860 [9.000] | 2477 1975 2407 1946 Lo g DRAFT WHERE APPLICABLE| SEE CHART SD-38720-001 2 OF 2
26 2667 10581 [23813 [9375] [ 2572 0131 | 2497 [983 oo WITHIN D‘MENMSA“ONNS SZET THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
B = INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
Rev. € 006,001 2 8 7 | 6 5 4 | 3 | 2 | 1




